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March      igher Maths Calendar 

#abitofmathseveryday 4∙5 

y = -2x + 4 x ≥ -½  y = -3x - 23  y = log4x 
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3
 ℎ−1 𝑥 = 𝑥 − 2

3
 

Limit exists  
since -1 < 0∙2 < 1, 

Limit = −
15
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𝑚 = − 3 C(7, -3) 
Radius = 5 

Max TP @ (-2, 25), 
Min TP @ (2, -7) 5 units f(x) = x - x² + 14 

y = -x + 6 8(2x - 5)³  k = 3 -3(x – 2)² + 13  y = -13x - 3 

x < -8 
and 

x > 10 

𝑥 =
3

2
 

 a = 6 
 b = 4 
 c = 7 

𝑅𝑆 : 𝑆𝑇 = 5 : 6 
and S is a 

common point 

𝑥 + 1 𝑥 − 5 𝑥 + 4   k = 5 22

3
 𝑢𝑛𝑖𝑡𝑠² 

y = -3(x – 1)(x – 2)(x – 5) x = 0∙84, 2∙09, 
4∙19, 5∙44 

           Since  
b²- 4ac = -31 there  
are no real roots so  
line does not intersect  
the parabola 

𝑦 = 2𝑥  2sin (𝑥 − 315)° −
1

8
 


